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S |nxBHRKEL, a, =cosnl, by =sinnf L 5.

(1) Ap+1, b;q+] 7& Ay, b-n, COSg, Sin@ ?S:HEJQ\'C%.%{J@J\_{\J\.
(2) ap+o % Qne1, Gn, COSO ZHNWTRL BT W,

(3) cosh = S mr ¥ cosbO DffiE kDX,
7}

(1) cos(nt1) 8 = cosnfcoséd —sinnbsinl

d>T. QAnti = Ancoslh = pnsinl , ©

sin(n+1)f = sinnBcosf + coshb sin@
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(2) @ LY. fQnya Onet C05B = bnti sinf - ®

1

@ -Oxcosf &£}

finr2 = Anei €05 B = Quucosb ~ Ancos*@ = sinf (bnrs = bncos§)

@ FMAIT.

lntz2 = Anty 05 = Antr COSE ~Rn cosf = An Sin*@
Anta = 20n+1 cosB = QAn (cos* 8+ sin*g)

An+a = 2Ant Cosf — An ,

\{

(B) (2)FY. Q3= 242 cos8-dy

A4 = 243 cosf ~Az

n

2 (202 cos9 ~A1) cosf A2

= (4cos°9 = 1) A2 = 24058

"

24 cosb —A3
(§cos’8 ~2c058) Gz ~4Qi cos’ 6 ~ (2d2¢0s6~A1)

(9cos’® ~4cosb) Az * (1—=4cos’B) Qs

I e sl
A= '431' Qo= a2(F)-1 =% &) cos56=A57 —227 ,
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